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Abstract

We study the asymptotic behavior of a two dimensional linear PDE with a degenerate diffusion
and a drift term. The structure of this equation typically arises in some mathematical mean fields
models of neural network, and the investigation of the qualitative properties of this equation is still
open, and a challenging question. We prove, via a Doeblin-Harris type method, that the solutions
converge exponentially fast to the unique stationary state in a L'-weighted norm.

1 Introduction

The study of partial differential equations (PDE) associated to neurosciences has seen a growing
interest in recent years. These models often involve a mixture of effects leading to singular terms,
heterogeneities, nonlocal terms, jumps, partial diffusion mechanisms and long term memory effects,
which overall make their qualitative study somewhat challenging (see for instance [25], [17) 2, 24}, [16]
5, [13), 18], 22]). In this paper, we propose to study the following toy model, which is directly derived
from a model in [21]. It reads

Owu(t, x,y) — Oz (xu) — Oy(yu) — Opau = 0=1 N (t,y), (1.1)

N(t,y) = Ou(t,0,y — 1), t >0, x >0, y € R, (1.2)

—+00 —+00
u(t,0,y) =0, u(t,z,y) =0if y <0, u(0,z,y) >0, / / u(0,z,y)dzdy =1.  (1.3)
z=0 Jy=0

Modulo a change of sign in the variable x, the solution u(t, z,y) can be interpreted as the probability
density of a neuron to be at the membrane potential x with an adaptation current y at time ¢. The
point x = 0 models the activation potential, and = = 1 the reset value. The function N(¢,y) models
the flux of neurons which discharge at time ¢ with an adaptation current y — 1. If we integrate the
equation in the y variable, we find that w(t, x) := ;;O(f u(t, z,y)dy is a solution to

Ow(t,x) — Oz(xw) — Oppw = S N (2),

+oo
N (t) = d,w(t,0), w(t,0) =0, w(0,z) >0, / w(0,x)dr = 1.

z=0
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In other words w is solution to the classical LIF Fokker Planck equation, which was widely studied
in the linear and non linear case in several articles (see for instance [14] [8, 9] 1T, 12, [, 23] [6l 26]).
In particular, it was proven in [5] that, in the linear case, the solution converges exponentially fast
to its stationary state, in an exponential weighted norm in L?. The proof consists of the use of an
entropy inequality combined with Poincaré type estimates. The adaptation of this strategy fails in
the context of Equation , due to the degenerate diffusion. The so-called hypocoercivity method
[1l 28, 15, 20] are other possible methods which do not apply immediately here. For this reason, we
propose here an entirely different approach based on an adaptation of the so-called Doeblin-Harris
method. The latter has proved very performant in a number of contexts recently, as a growing number
of papers have focused on the use of this method for many equations from neuroscience or physics
[4, B, 10, 16l 17, 27, 19]. Following these ideas, we eventually prove exponential convergence to the
stationary state for Equation . More precisely, the next theorem holds where, here and in the
sequel, we denote by S(t)ug(z,y) := u(t, z,y) the solution operatoﬂ

Theorem 1.1 There exist two constants C' > 0, p > 0, such that for all initial data w1, uy satisfying
(1.3), the following estimate holds

Jf a1+ 1aPSm = Sl p)dady < Cer [[410]+ P )ur —usl(e.g)dody. (1.9
As a consequence, there exists a unique stationary state u* of , , , with
Jf @ 1o+ oPyu sy < -+
and for all initial data ug satisfying ,
Jf @ 1ul+ aPlutt.o.0) - v wldody < 0 [ [ ]+ o) a0, - o (0.9 ldedy,

for all t > 0.

The Doeblin method (see e.g. [4]) relies on the following simple and efficient result. Assume that
Q C R d>1, and that S(t) : L'(Q) — L'(f) is a linear semi-group for ¢ > 0 which preserves mass
and positivity: for all f € L1(Q)

/ S(0)f(x)da = / f(@)de, and f>0= S(t)f > 0.
Q Q

Assume also that for some time ¢y > 0, one is able to prove a uniform non trivial lower bound on the
solution, relative to its initial mass. More precisely, assume that there exists tyg > 0, « €]0,1[, and a
non negative v € L1(Q) with total mass 1 such that for all non negative f € L1(Q)

S(to)f > oa//ﬂf. (1.5)

Then S(t) possesses a unique non negative stationary state f* € L'()) with unit mass, and moreover
there exists C' > 0 and p > 0 such that for all f € LY(Q), and for all ¢ > 0

1S f = i) < Ce ™™ f = i)

! Although we shall not study the existence part for the Cauchy problem here, our estimates below could actually be
used to do so.




The key observation leading to this result is the following. Take f € L'(Q) such that Jo f =0and
decompose f = fi — f_, where fi are respectively the positive and the negative part of f, in particular

Jisi=2[s=2 1.
We write then

st = (s - 5 [ 1fi@dov) = (st -5 [ 1@ v) =0

where v and « are given in ([1.5)). Since the functions ¢g; and g are non negative by ([1.5)), it follows
that

[1st i@ < [ @iz + [ g =0-a) [ 7@

where we have used the fact that S(-) is mass preserving. The existence of a unique stationary state
and exponential convergence towards it can then be proved following standard semi-group theory
arguments, mainly through iteration, the details of which can be found e.g. in [4].

In order to prove Theorem we will have to adapt the previous strategy because the equivalent of
Estimate clearly cannot hold for the semi-group associated to Equation , in particular due
to the unboundedness of our domain. To overcome this difficulty, we shall first prove some uniform
lower bounds in the spirit of , provided some control of the initial data in suitable weighted
norms holds (see Theorem [3.1). For that purpose, and because the diffusion term only operates in
the variable x, we need to understand the delicate mechanism that allows mass to spread along y as
well. The next difficulty for the proof of Theorem assuming Theorem [3.1] holds, is that we cannot
iterate easily the contraction argument as one would do in a classical Doeblin method. Instead, in
the spirit of Doeblin-Harris type method (see [7]), we need to understand the global dynamics of the
solution with respect to the added weighted norm, combined with the information of the uniform non
trivial lower-bound on the solution obtained in Theorem [3.1l

The organisation of the paper is as follows. In the next section we obtain uniform lower-bounds on
the solutions on compact subsets K C |0, +00[% [0, +00], at the cost of integrating in the variables z
and y and assuming that the second moment in the variable z and the first moment on the variable
y are a priori bounded by a given constant C' > 0. In the third section, still assuming these uniform
bounds on the moments, we get rid of integration and obtain pointwise lower-bounds estimates. This
part is complicated due to the degenerate diffusion in Equation . Finally in the last section, we
finish the proof of Theorem [I.I} by combining the pointwise estimates with controls on the moments
of the solution.

2 Uniform local mass bounds

Our main goal in this section is to prove that the solution can neither concentrate too much near the
boundary in the z variable, nor have too much mass flowing to infinity. We rely on weighted norms,
and define the quantities

+oo  p+
M(t) := /0 /0 (x — 12+ y)S(t)uo(z, y)dzdy. (2.1)

We shall prove



Proposition 2.1 Let C > 0 be given. Then, there exists ¢ > 0, and for each t > o there exist € > 0,
A > 0, and R > 0 such that, for all initial data uy satisfying (1.3)) with M(0) < C, the following
estimate holds

/ S(t)uo(x, y)dedy = A,
R
where K. g = [¢, R] x [0, R?].

Proof of Proposition We proceed in two steps. First, we establish a control on the growth
M (t), which allows us to ensure that the mass of the solution does not too much concentrate near
infinity. Next, we prove on control on the possible mass concentration near the boundary at z = 0.
More precisely, we shall prove

Lemma 2.2 Let ug satisfying (1.3) with M(0) < +oo. Then fort > 0,
M(t) < M(0)e™" +3,
and

Lemma 2.3 Let C > 0. Then, there exists o > 0, and for each t > o there exists B > 0 such that for
all wg satisfying (1.3) with M(0) < C,

+oo +o0o
X1(t) ::/ . / . xS (t)ug(x,y)dxdy > B.
= y=

We postpone the proofs of these lemmas and proceed with the proof of Proposition 2.1} Let C' > 0 be
fixed as in the statement, and let t > ¢ be given by Lemma for that same value of C. Lemma
implies that M (t) < C' + 3. Hence, comparing the weights and assuming R > 2, we deduce that

+oo +o0
4& > / / ru(t,z,y)dzdy and / / u(t, z,y)dzdy. (2.2)
R =R Jy=0 =

Thanks to Lemma [2.3] we obtain that, for all R > 0 and ¢ > 0,

400 400 R R?
B </ / tug(z, y)dxdy —/ / t)ug(z, y)dzdy +/ / x S(t)up(z,y)dzdy
T= =0 r=¢ Jy=0

R 400 400 ptoo
+/ / x S(t)uo(z,y)dxdy —i—/ / x S(t)uo(z,y)dxdy.
rz=c Jy=R?2 y

z=R =0
From the latter and (2.2), we deduce that when R > 2,

R R2
R/ / S(t)up(z,y)dedy > B — e — 56;3,
r=¢c =

Taking ¢ sufficiently small (e.g. ¢ = B/3), and then and R > 2 sufficiently large (e.g. R =
max(2,15(C + 3)/B)) , the conclusion follows. O

We proceed now with the proofs of Lemma and Lemma



Proof of Lemma The function M satisfies the identity

M) /E /+Oo (z—1)(—z +3) S(t )uO(fC,y)dﬂfder?/x:

/ h
y=0

S(t)up(z,y)dxdy.

Using that (x — 1)(—x 4+ 3) < 0 for z > 3, and that (z — 1)(—z + 3) < 1 for 0 < z < 3, we obtain the

inequality

M'(t) < —M(t +3/ /+<>o (t)uo(z,y)dedy = —M(t) + 3,

and therefore the announced
M(t) < M(0)e ' +3

which gives Lemma

Proof of Lemma [2.3. We have
X1(t) = =X1(t) + No(1),

where Ny (t) f % N (t,y)dy, and therefore

¢
X1(t) = X1(0)e™t + e_t/o e’ No(s)ds.

If X1(0) > £, we simply derive that
—t

Xl(t> Z (&

N | —

Assume now that X;(0) < %, and set, for p > 0,

= // e Mu(t, x, y)dzdy.

Multiplying Equation (1.1) by e #*  and integrating, we obtain that

<I>:L(t)— —i—,u//xe“utxy)da:dy—l—(

and therefore

(1) = 1 () @u(t) + (7 — DNG(2).

Mass conservation implies that for all ¢ > 0, ®,(t) < 1, and so

=0

/: e M 5Ny (s)ds > (1_16_/1) <<I>N(O) - e_“Zt) .

— DNo()

On the other hand, as M (0) < C, we deduce that there exists C1 > 0 such that

C1 C1 1
/ / U(O, z, y)dxdy 2 a
z=0 Jy=0 2

and so ®,,(0) > 2e~C1# which gives

1
2

[t | i

_ _ 2
e O _ ¢ “t>.

(2.3)

(2.4)



Taking p = 1, we obtain that there exists a constant Ci > 0 and o > 0 such that for all ¢ > o,

t ~
/ Mo(s)ds > Cy.
s=0

Coming back to Estimate (2.3), we obtain that, for ¢t > o,
Xi(t) > e tCy,

which concludes the proof of Lemma O

3 Uniform pointwise lower bounds
The aim of this section is to prove the following theorem.

Theorem 3.1 Let C > 0. Then, there exists t. > 0, and for each ty > t, there exist o €]0,1[ and an
integrable function

v:RT x RT — RT with // v(z,y)dedy =1,

such that for all initial data satisfying (1.3|), with M (0) < C, where M 1is defined by (2.1)), the following
estimate holds

U(to, z, y) > O‘V(:L‘a y)

The main difficulty of the proof lies in the fact that we have a diffusion only in the variable z. It is
therefore necessary to understand how the source term, coupled with the drift term in the variable ¥,
allows to gain a sufficiently diffusive dynamics in y. The sketch of the proof goes as follows: First,
by a suitable change of variable, we observe that Equation can be written as infinitely many
heat equations, parametrized by y, with a source term that couples all equations together. For the 1D
linear heat equation, with a Dirichlet boundary term, it can be explicitly verified that the derivative
in z of the solution at 0 can, for any time, be bounded from below using a weighted average of the
initial data at time O (this is the object of Lemma below). Using Duhamel’s formula for our new
set of equations, which involves a time integral of the source term, we obtain a control from below on
the solution via the coupling term, which itself can be controlled using Lemma One key point is
that the integral in time obtained via Duhamel’s formula also provides in the original variables some
implicit integration in the y variable, because the derivative of the velocity of the drift term with
respect to y is non trivial.

We begin with the explicit boundary derivative control for the heat equation, and the proceed with
the actual proof of Theorem

Lemma 3.2 Let v:RT x Rt — RT be the solution of the equation
o —0%v =0, w(t,00=0, v(0,z)>0.

Let S(t) := 0,v(t,0). Then,

1 oo g2
S(t) = a0, z)dx.
(t) t\/H/o xe” 1 v(0,z)dx

6



Proof of Lemma [3.2l We have

+Oo _(z— y)2 (L+y)2
t,x) —e 0,y)dy.
o) = o= [ (e )0(0.9)
Hence,
(@=)® (z+9)?
O,v(t, ) x)e” i  + (z+y)e 4 )v(0,y)dy,
v(t,z) = - F (z +y) )v(0,y)dy
which yields the result, taking x = 0. U

Proof of Theorem [3.1]
First observe that by direct computation, if u is a solution to ((1.1)), then

1 x y
n(t,x,y) := mu(ln(\/ 2t + 1), NN 1) (3.1)

satisfies

Oim — 0%n = 8,_ g1 G(ty),  Glt,y) = Dan(t,0,y — VZ+1). (3:2)
By Duhamel formula, it follows that

t
n(t,z,y) = e "*n(0,,y) +/0 e TIR6,_ aert Gls,y)ds,

and therefore when u and thus n is non negative,

_ (V2ZsFi-=z)? _ (V2ZsFi+a)?
=) —e 4G9 )G(s,y)ds.

! 1
’I’L(t,l‘,y)Z/(; \/ﬁ(e

From the latter, we deduce that for any compact set K CJ]0,+oc[, and for any ¢ > 0, there exists a
positive constant C(¢, K') such that

n(t 2, y) e > C(t, K) /0 Gls,y)ds. (3.3)

We now estimate the term involving G. To this end, observe first that by the comparison principle
G(t,y) > S(t,y), where S(t,y) is given by S(¢,y) := 0,v(¢,0,y), where

v — &%v =0, v(t,0,y)=0, v(0,z,y)=n(0,z,y)>0.

Hence, applying Lemma in Estimate (3.3]), we obtain that for all t > 6 > 0

n(t,z,y)lex > C(t, K, 5)/ / xe~ 4sn (0,z,y — V25 + 1)dxds,

for some positive C(¢, K,¢). In turn this implies that for any compact interval K’ C]0, +oo[, we have

y—v/20+1
n(t,z,y)lex > C(t, K, K',(S)/ / n(0,z, z)dzxdz,
z=y—/2t+1 Jxe K’

7



for some positive C(t, K, K’,§). Using Relation (3.1)) between w and n, and rescaling the variable z,
we infer that for all compact interval K and K’ of |0, +o0],

£ Y
In(v2t+1 I

1 (3.4)
C(t,K,5 K') v w(ln(v26 + 1), z, z)dzdz.
y_;§F7 zeK'’

Let A > 0,e >0, R > 0 be given by Proposition where in the statement of Proposition we
take the value of C identical to its value in the statement of Theorem [3.1] and with the choice t = o.
We next choose ¢ in such a way that In(v/2§ + 1) = o, and let K’ = [, R]. The interval

K" := {y >0s.t. y<V2t+1andy> (R*+ l)e”}
has positive length provided ¢t > ¢, := $((R? + 1)?¢?? — 1), and by construction we have

y—V2t+1 Y

0,R? c , —1], Vy e K",
0Bl V20+1 " V20+1 ] Y
so that by (3.4)) and Proposition for all t > t,,
€z Yy
u(ln(v2t + 1), NN 1)]IxeK]IyeK” > C(t,0,K) /K u(o,x, z)dedz > C(t, 0, K)A.
&, R

This implies that for all ¢ > t,, there exists a compact set of positive measure K" C RT x R, such
that

u(In(v2t + 1), 2, y)l(y yexm > Ot 0, K)A.

As for all t > 0, In(v/2t + 1) < t, we deduce that for all to > t., there exists a compact set of positive
measure K" C R™ x R, such that

u(t()awvy)ﬂ(l‘,y)GK’” > C(t0707 K)A7
which concludes the proof of Theorem by taking v = %, where |K"’| denotes the Lebesgue

measure of K. O

4 Proof of Theorem [I1.1]

We first recall for completeness the classical argument showing that Estimate (1.4)) implies that there
exists a unique stationary state u* of (1.1)), (1.2)), , such that

+oo  pto0
[ e e pdedy < 4.
=0 Jy=0

Let Ll denote the Banach space of integrable functions f : Rt x R* — R, endowed with the norm
|1y, where

+0o0
g, = [ [ o+ I e

8



For t >0, let U, : Ll — L. defined by ¥,(f) = S(t)f. The application ¥, is well defined because of
Lemma, and if ¢ is sufficiently large, it follows from Estimate ([1.4]) that there exists x < 1 such
that for all (f,g) € L., x L&,

[We(f) = Vel <kllf =gl ,
and Picard fixed point theorem yields a unique u* € L} such that
S(t)yu™ =u*.
On the other hand, we have for all ¢’ > 0,
SH(SHu*) = SH)(S{t)u*) = St )u*.
Hence, for all ¢/ > 0, S(t')u* is a fixed point of ¥; which implies that for all ' > 0, S(t')u* = u*.
It remains to prove Estimate . For that purpose, we consider u; and ue two initial data satisfying

, and set
+o0 —+0o0
mo) = [ [ IS0 ~ (e )dzdy
x y

=0 =0

+oo +oo
@)= [ [ (=12 pISO - )@ )dady,

We note that by conservation of mass and positivity, the quantity myg is a non increasing function.

The next lemma, based on Theorem provides a first contraction type result, assuming a uniform
control on M (t) with respect to mg(t).

Lemma 4.1 Let v > 0. There ezists t. > 0, and for any ty > t, there exists a €]0, 1], such that for
any t >0, if M(t) < ymg(t) then
mo(t +to) < amo(t).

Proof of Lemma We decompose S(t)(u; — ug) =: py — p—, where py denote respectively the
positive and the negative parts of S(t)(u; — uz). We have

+oo  ptoo +oo  poo 1
/ / i (,y)dady = / / (o y)dndy = Smo(r)
z=0 Jy=0 z=0 Jy=0

We also have, for all (z,y) € Ry x Ry,

[S(8) (w1 — u2)(,y)| = pr(2,y) and [S(E)(u1 — u2) (2, y)| = p-(2,y),

and therefore from the assumption M (t) < ymg(t) we deduce that

+o0o +o00o +o00o +00
/ / ((z = 1)% + y)ps (2, y)dady < 27/ / pe (2, y)dzdy.
z=0 Jy=0 z=0 Jy=0
Applying Theorem with initial data p+, it follows that there exists a time t, > 0 and for any
to > t. there exists o €]0,1[ and a function v as in Theorem such that

mo(t)v

S(to) (ux) =2 a—




We write
1o+ 1) — ) = S0) () — "2y 4 "0, 1)),

and taking the absolute value and integrating yields

400 400 too ptoo
[ st ) - wl iy <a [ 718000 - w)l@y)dady
=0 Jy=0 z=0 Jy=0

which ends the proof of Lemma 4.1 O
Because it requires an a priori bound on M(t), it is not clear a priori that it can be iteratively used

in order to derive and exponential decay. As a matter of fact, even assuming that there exists t> 0

such that mﬂo(t) < =, we do not know, for example, if for £ > 1 we still have mﬂo(t + kto) <. In order

to overcome this difficulty, we shall split the time space into two regions determined by the ratio mﬂo

with respect to a parameter +: in one region we will directly make use of that ratio bound, while in
the other will make use of Lemma [£.1]

We being with the case where M is large with respect to my.

Lemma 4.2 Let v > 0. Assume that M > ymg on some interval I = [T1,Ts]. Then

M(t) < DI

)

forallt e 1.
Proof of Lemma Set p(t) := |S(t)(u1 — u2)|. Then,

atp - ax(xp) - 8y(yp) - azmp < 5:v:1|N1 (ta y) - N2 (ta y)|

where N;(t,y) = 0,5(t)u;(0,y — 1). Multiplying the above equation by (x — 1)? + y and integrating,
we derive that 5
M'(t) < =M(t) + 3mo(t) < =M (t) + M(1), (4.1)
Y

and the conclusion follows from Gronwall’s lemma. O

We now proceed with the region where M < ymg. To deal with that situation, we define a suitable
area where one can iterate over Lemma [4.1], in order to control mg, and where, at the same time, a
sufficient control on M can be established. More precisely, we have

Lemma 4.3 Let v > 0, let t. be given by Lemma[.]] for this choice of 7, and let tg > t..
Assume that for some T >0, M(T) < ymg(T), and set

N = N(T,~,tp) := sup {k; >0 s.t. M(T + jtg) < ymo(T + jtg) V0 <5 < k‘} € NU {+o0}.
There exists 0 < f < %, depending only on v and ty, such that

mo(t) < 2¢ 2T mo(T), (4.2)

and
M(t) < e DT + 12 P (T), (4.3)

for allt € Iy, where Iy := [T, T + (N + 1)tg) if N is finite, and Iy := [T, +00) otherwise.

10



Proof of Lemma Inequality follows from Lemma and the fact that mg is a decreasing
function. Indeed, for 0 < k < N we can apply Lemma at the point T+ ktg and therefore obtain
that

mo(T + (k+ 1)to) < amo(T + kto).

Using that my is a decreasing function, it follows that
mo(t) < a®mo(T),  Vt € [T+ kto, T+ (k4 1)tg), VO< k < N,

and therefore (4.2) holds provided e~#% > max(%, a). We choose [ := max(%, —% log(max(%, a)).

Estimate (4.3)) is then a direct consequence of the fist inequality in (4.1]). Indeed, we have

t
M(t) < e DT + 36_t/ e*mo(s)ds,
T

and using (#.2)) as well as 3 < 1, we bound

t t
36_t/ e*mo(s)ds < Ge_ﬁ(t_T)mo(T)/ e~ (=AE=5) g5 < 12T o (T).
T T

This concludes the proof of Lemma [4.3] O

Proof of Theorem completed. Let v = 24 and let ¢, be given by Lemma for this choice
of 7. We then set ¢ty = max(t4,21log(2)), and denote by S the value provided by Lemma for such
values of v and tg. We split the argument in three steps.

Step 1: Initialization. We distinguish two cases.

Case 1: M(0) < ymgo(0). We may then apply Lemma with T' = 0, and we distinguish again two
subcases depending on N := N(T',~,tp).

Case la: N = +o00. In that case, summation of and leads to

(M +my) (t) < 14eP* (M +mo) (0), V¢ >0, (4.4)

which immediately implies (|1.4)).
Case 1b: N < +o00. In that case, we set Ty = (N + 1)t and similarly summation of (4.2)) and (4.3))
yields

(M +mo) (t) < 14e P (M +mp) (0), VYt € [0,Tp). (4.5)
By definition of N, we also have M (Tp) > ymo(Tp).
Case 2: M(0) > ymo(0). In that case, we simply set Ty = 0. Obviously, (4.5) also holds.

Step 2: Induction. Assume that for some k € N we have constructed T}, > 0 such that

M(Tk) > ’ymo(Tk), (46)
M(Ty,) < 14ePTw (M +myg) (0),
(M +mo)(t) < 28¢P* (M +mg) (0), V0<t<T. (4.8)

Let T} = sup{t > T} s.t. M(s) > ymg(s) V s € [T}, t]}. We distinguish two cases.

Case 1: T} = +o0. Then by Lemma and in view of the inequality —1 + % = —% < —% < —f we
obtain that for all t > T},
— 1.— 1 — _
(M +mo)(t) < (1+ =)M(t) < (1 + =)e PETIN(Ty,) < 28¢5 (M +my) (0),
Y Y
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where we have used for the last inequality. It follows that the equivalent of holds for all
t > 0, and there is nothing left to prove in that case.

Case 2: T} < 4o0. By continuity it holds M(T}) = ymo(T}). By Lemma and using once more
that —1 + % = —% < —% < —f, we have

M(t) < e PCTOR(T) Y te [T, T, (4.9)

and therefore by definition of T},

(M +my) (t) < (1 + ,1y> M(t) < (1 + i) e PUTIM(TY) YVt e [Ty, T} (4.10)

We distinguish once more two subcases depending on N := N (T}, 7, to).
Case 2a: N = +o0. Summation of (4.2)) and (4.3)), together with (4.9) (evaluated at ¢ = T}) yields

(M +mo) (t) < 14e PETOM(TY) < 14 PETOM(TY), V> T3, (4.11)

Using to control M (T},) in both and in , and combining the control so obtained for
all t > T}, with the existing control for ¢t < T}, finishes the proof in that case.

Case 2b: N < 4o00. This is the only case that will potentially repeat itself, it is therefore important
that it yields an exponential decay without a pre-multiplying factor. We set T}/ = T} + to and
Tr1 =T}, + (N + 1)to. Inequality combined with mo(T}) = M(T})/~ yield

— pp— 12 /
M(t) < e TOM(T]) + = PETOM(T]), VT <t < Tpyr. (4.12)
v
Since by construction ¢y > 2log(2) and § < %, we have
e < IO < Lo BT g > T = T
It follows therefore from (4.12)) and the choice v = 24 that
M) < e PCTOM(T))  Vite [T, Thel (4.13)
Combining (4.13) and (4.9) (evaluated at ¢t = T}) we deduce that
M(t) < e PCTIN(T) Vb€ [T Ten] \ (T4, TY), (4.14)
and therefore by the inductive assumption (4.7]) we obtain
M(t) < 14e P (M +mg) (0) VYt € [Ty, Trya] \ (T7, TY). (4.15)

The latter evaluated at t = Tyy1 reproduces the equivalent of at t = Tk11. Note also that by
definition of N we have M (Ty11) > ymo(Tky1), i-e. also holds at time Tj41. It remains to prove
the inequality in holds for all ¢ < Tpy1. In view of (4.15)), this amounts to bound M (t) for
t € (T}, T}) and mo(t) for t € [Ty, Ty41]. For the first one, we simply refer to and combine it
with (evaluated at t = T}) to obtain

M(t) < 21464“ (M +mg) (0)  Vte [Ty, T (4.16)

12



Regarding mq(t), first by definition of T}, and (4.15)

M(t) < L 14est (M +mg) (0)  Vte [Ty, Ty

mo (t) S ~

==

Second, by (4.2)) we have

/ 2 /N 2 _
mo(t) < 2 PETm (T} = ae*/ﬂtﬂ) M(T}) < ;146*& (M +myg) (0) VYt e [Ty, Titl.

After summation with or (depending on the value of ¢) (4.15)), and using that (3 + %)14 < 28,
we finally derive for all ¢+ < Tjq1.

Step 3: Conclusion. If the algorithm presented in Step 2 exits early (i.e. if either case 1 or case 2b
holds at some point), then we already showed that there was nothing left to prove. If it doesn’t then
the sequence (T})r>0 is necessarily unbounded, since Tjy1 — T} > to for all £ > 0. Inequality
therefore eventually holds for all ¢ > 0, and the proof of Theorem is hereby completed. O
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